CCS-X-CFW-11/CFW70X ABC

‘

x Screw M3 x 8

¥
9
v

Clamp
Abrazadera
Abragadeira

Tornillo M3 x 8
Parafuso M3 x 8

Screw M4 x 10
Tornillo M4 x 10
Parafuso M4 x 10

x Spacer M3 x 5.8

Separador M3 x 5.8
Espacador M3 x 5.8

M3 O 5N.m
Torque { 17 N

\

J \

(
(15

Control Cables
Cables de Control
Cabos de Controle

S

Remote HMI
HMI Remoto
HMI Remota

4 Ibf.in)
5.0 Ibf.in)

Document; 0899.5320 / 03



